
AŽD

1 : 1000

Kreslil

Zkoušel

Navrhl Porucha è.

Oprava è.

Platí od

DK   KOLÍN - PARDUBICE

Kóty vztaženy k ose koleje è. 2

L. 70

L. 69

L. 71

A A
1 2 3 4

4 - modrá

5 - èerná

2 - oranžová

3 - hnìdá

1 - 100 XN 0,6

5

100KS3

100R9

S

u
k
o
n
è
e
n
í

M50a

15
m
 
2
xro

ur

P
V

C
 
o
10

0
,hl.12

0

M51,100R8,144,43,C43

30.8

30.5

25.2

27.1

21.3
19.0

18.2

18.5

15.4

15.7

20.3

25.0

24.5

26.5

2
-
2
4
5

2-251

2-252

2-253

2
-
2
5
4

2-255

2
-
2
5
6

2
-
2
5
8

2-259

2-260

2-261

2
-
2
6
2

2
-
2
6
4

7
-
8
0

85.0

86.9

5.2

12.8

24.6

61.6

8.1

13.1

17.3

27.4

62.6

97.4

3
1
8
,4

3
1
8
,3

2

1

B B

A A

2
15

4

2
4
5
3

5
0
0
7

5
0
14

5
0
17

2

5
4

3

1

1
2
0

6

1

š=65

hl=80

š=65

hl=80

2

PØELOU±B B
1 2 3 4

6 - èerná

3 - oranžová

4 - hnìdá

1 - 100 XN 0,6

5

5 - modrá

2 - šedá

6

1

2

1


